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Giai cac phép tinh (+ -) Ho va Tén:
Tim gi4 tri con thiéu trong cac phép tinh. Cau tra loi
D 79-61=2
1.
2) 92-26="7
2.
3) 27+2=42
3.
49 2=70+19
4.
S) 47+42=2
5.
6) 97=9+38
6.
7 4=35-9
7.
8) 2=34-21
8.
9 98-2=158
9.
10) 9.28=17
10.
M) 9=47+24
11.
12) 94=9-6
12.
13) 9=47-9
13.
14) 38=24+79
14.
15) 58+ 14=2
15.
16) 60+ ?="78
16.
17) 90 -2=280
17.
18) 59=17-38
18.
19) 58=21+7
19.
200 27+4=62
20.
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Giai cac phép tinh (+ -)

Ho va Tén: Loi gifli

Tim gi4 tri con thiéu trong cac phép tinh.

Cau tra loi

D 79-61=2? ) 18
2) 92-26="7 ) 66
3) 27+7=42 N 15
49 2=70+19 . 89
S) 47+42=2 . 39
6) 97=9+38 . 59
7 4=35-7 . 31
8) 92=34-21 . 13
9 98-2=58 N 40
10) 2.28=17 10. 45
1) 9=47+24 -
12) 94=9-6 12. 100
13) 9=47-9 g
14) 38=24+7 14, 14
15) 58 +14=2 15. 72
16) 60+ ?=178 ” 18
17) 90 -?=280 5 10
18) 59 =19_38 . 97
19) 58=21+7? o 37
200 2+4=62 " 58
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C{}El_j Giai cac phép tinh (+ -)

Ho va Tén:
Tim gi4 tri con thiéu trong cac phép tinh. Cau tra loi
15 71 89 40 45
14 59 31 13 72 1.
66 100 89 18 38
2.
D) 79-61=2?
3.
2) 92-26=7
4.
3) 27+272=42 5
49 2=70+19 6.
7.
S) 47+42=2
8.
6) 97=9+38
9.
T 4=35-7
10
8) ?2=34-21 1.
9 98-2=>58 >
13
10) 2.28=17
14
1) 9=47+24
15.
12) 94=7-6
13) 9=47-2
14) 38=24+7
15) 58 +14=2
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